Unit 5: Curve Sketching and the Second Derivative Asymptotes February 10

More Slant and Horizontal Asymptote Practice

Find the equation to the slant/horizontal asymptote using limits as x — oo, Complete the graphs.

Reminder: Quiz on Tuesday: Slant/Horizontal asymptotes and Concavity (Wednesday's Lesson)
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11. Consider f given below. Determine f(6 X 10%3) to the nearest whole number.
3x°% —12x3 + 13

FO) = e 783 + 20

Solutions: _W(
y=2

1.

2. y=-20
3. y=—x+5
4. y=-—x+3
5. y:§x+5
6. y=2x+10
7. yz—z-x

8. y=%x+'3
9. y=§x+2

10. y = ~x? +x +1
11. 3 x 1023 + 4 or 300 000 000 000 000 000 000 004



